
SAP ABAP table ROIUY3_TX_OOS_WO_ALV_0100 {Roy 2.0 - TX GLO/TAMU Out Of Statute Write Off ALV Structure}

ROIUY3_TX_OOS_WO_ALV_0100

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

PDCD [CHAR (3)]

WL_NO [CHAR (15)]

WC_NO [CHAR (5)]

MP_NO [CHAR (20)]

VNAME [CHAR (6)]

DOI_NO [CHAR (5)]

DN_NO [CHAR (20)]

CT_NO [CHAR (10)]

VL_TYPE_CD [CHAR (2)]

UNIT_VNAME [CHAR (6)]

UOM [UNIT (3)]

GLO_LEASE [NUMC (6)]

GLO_UNIT_NO [CHAR (4)]

OPERATOR_NO [CHAR (6)]

OIUH_CM_BA

MANDT [CLNT (3)]

BA_BA_NO [CHAR (6)]

BA_SEQ_NO [CHAR (2)]

 ROIUY3_TX_OOS_WO_ALV_0100-OPERATOR_NO = OIUH_CM_BA-BA_BA_NO 
0..N

0..N

OIUY3_TX_LEASE

MANDT [CLNT (3)]

GLO_LEASE [NUMC (6)]
 ROIUY3_TX_OOS_WO_ALV_0100-GLO_LEASE = OIUY3_TX_LEASE-GLO_LEASE 0..N

0..N

OIUY3_TX_UNIT

MANDT [CLNT (3)]

GLO_UNIT_NO [CHAR (4)]

EFF_FROM_DT [DATS (8)]

GLO_LEASE [NUMC (6)]

 ROIUY3_TX_OOS_WO_ALV_0100-GLO_UNIT_NO = OIUY3_TX_UNIT-GLO_UNIT_NO 
0..N0..N

OIU_PR_VLTYP

VL_TYPE_CD [CHAR (2)]

 ROIUY3_TX_OOS_WO_ALV_0100-VL_TYPE_CD = OIU_PR_VLTYP-VL_TYPE_CD 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 ROIUY3_TX_OOS_WO_ALV_0100-UOM = T006-MSEHI 

0..N

0..N


